11x10=110
12x10=120

120 + 10 =
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SANURST Darwin Class Homework Term 4 I SANDHURST
(Darwin Class homework will be set on a Friday. Homework will be due in/tested on the following Friday.)
Date set This weekK’s spelling rule and spellings This week’s times tables Sumdog
and date
due in
Date set: Spelling rule: 2 x tables 1 x spelling activity
28/2/25 High frequency words: 1x2=2
all 2x2=4 2 + 2 =1 1 x times table
call 3x2=6 & + 2 = 2 | activity
our 4x2=8 o4dans
put 5x2=10 A Nl
Date due: | they 6x2=12 W0 + 2 = 5 | DateDue:
7/3/25 there 7x2 =14 2+2=6 | 77305
he - %W+ 2 =7
i 8x2=16 % + 2 8
e =
for ?5{52320 g
my 11x2=22 o
- 22 + 2= 1N
12x2 =24 2 + 2 = 12
Date of spelling test:
7/3/25 Date of times table test:
7/3/25
Date set: Spelling rule: 5 x table 1 x spelling activity
7/3/25 High frequency words:
mother 1x5=5 1 x times table
5 ¢« § =) -
could 2x5=10 activity
them 3x5=15 et
Date due: | house 4%x5=20 ‘z; i : ’
14/3/25 by 5x5 =25 ~-1" t Date Due:
that 6x5 =30 - 14/3/25
push 7x5=35 35 + 5§ = 7
like 8x5=40 &40 + 5 = 8
should 9x5=45 4 + 5 = 9
is 10x5=50 S0 + § = 10
11x5=55 55 + 5 = 11
12x5=60 60 + 5 = 12
Date of spelling test:
14/3/25 Date of times table test:
14/3/25
Date set: Spelling rule: 10 x table 1 x spelling activity
14/3/25 High frequency words:
because 1x10=10 10+ 10 = 1 x times table
but 2x10=20 20+ 10 = aCtiVity
put 3x10=30 30+10 =
Date due: | they 4x10=40 40 ¢+ 10 =
21/3/25 | them 5x10=50 00 e
that 6x10=060 e dha Date Due:
little 7x10=70 SR 21/3/25
8x10 =80 80 ¢ 10 =
busy " 90 + 10 =
people 9x10=90 e
gone 10x10=100 20 ¢ 30 = 1
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(Darwin Class homework will be set on a Friday. Homework will be due in/tested on the following Friday.)

Date of spelling test:

Date of times table test:

Date of spelling test:
4/4/25

Date of times table test:
4/4/25

21/3/25 21/3/25
Date set: Spelling rule: 2 x table 1 x spelling activity
21/3/25 High frequency words:
does 1 x times table
goes 1x2=2 activity
because 2%2=4 2 + 2 =1
father 3%x2=6 & + 2 = 2
brother 4x2=8 6 + 2 =3 Date Due:
Date due: | would 5x2=10 :o . 22 - : 28/3/25
28/3/25 under 6x2=12 0.0 20 8
over 7x2=14 % s+ 287
other 8x2=16 % +2 %8
9x2=18 % o+20 9
Date of spelling test: i?’;gfig 20+ 2 =10
- 2 +2= N
28/3/25 12x2=24 2 + 2 = 12
Date of times table test:
28/3/25
Date set: Spelling rule: 5 x table 1 x spelling activity
28/3/25 High frequency words:
know 1X5=% 1 x times table
because 2%5=10 $ ¢35 =1 activity
back 3x5=15 el
put 4x5=20 TR ald
Date due: until 5x5=25 2 + 5 = & Date Due:
4/4/25 from 6x5=30 0¢+8 =6 4/4/25
knew 7x5=35 35 + § = 7
they 8x5=40 &0 + 5 = 8
that 9x5=45 45 + 5 = 9
house 10x5=50 SO + 5 = 10
11x5=55 5§ +5=1n
12x5=60 60 + 5 = 12




Darwin Class Homework Term 4

— PRIMARY SCHOOL —

(Darwin Class homework will be set on a Friday. Homework will be due in/tested on the following Friday.)

Date set: Spelling rule: 10 x table 1 x spelling activity
High frequency words:

1 x times table

1x10=10 10 + 10 = activity
Date of spelling test: 2x10=20 20990 =
Date due: 3x10=30 30 + 10 =
i ot ads Date Due:
5x10 =50 50 + 10 = '
6x10 =60 60 ¢+ 10 =
7x10=70 70 + 10 =
8x10 =80 80 ¢+ 10 =
9x10=90 90 ¢ 10 =

10x10=100 100 +10=1C
11x10=110 10+ 10 =
12x10=120 120¢¥W0=

Date of times table test:




